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o FUA FIT W o [F 57 geT-97 H Hlad 78 16 79T
797 20 &/
Please make sure that the printed pages in this
question paper are 16 in number and it contains
20 questions.

o F97-5 H 2fe &Y & SR 47 T4 FIT TR TUT AT B BT
FR-GRA%T & J&T-5% T fard]
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o YT F9T T I [T@T & XA T &, J97 F A% a9
forg|
Before beginning to answer a question, its Serial
Number must be written.
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o FR-YkTer & e 7 @redl G1/9+ 7 B8]

Don’t leave blank page / pages in your answer-
book.

o TW-JRaF & Sifaked #F o= AT & [
STTHTEATTAR & [ oI forar IR 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o THETST 19T T To FIT-F GT 3F9Y ferd |

Candidates must write their Roll Number on the
question paper.

YT F¥TI H TR a4 7 g9 I8 GlAoEd & o [ q97-97 g0
7 & & gier & SuvrT 3@ = § FiF ot qrEr @Ew
T&1 fFaT TrET|
Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

T 7597 :
() T g9 st &l

(i) FOF 797 & Ui diw gwa ar kT 77 &)
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(iii) H9T G 1 B TRE (i-xi ) FGH® F9d 7 dier T
gl % g97 1 9w @ &l AT (i) & (vi) dF
FelawT 797 81 7% 997 & frg &7 77 ar fwedt
FE e adl Qe gar &1 Jaid 797 (vii) & (xi)
7% T FT AT PR S 797 8|

(iv) 597 §E&T 2 § 9 T& Sfa-agaiicds 997 &l i
% J97 2 3 FT &1 §cdeb FHT I GETIT: 30
=1 & S & &I aifey

(v) 59T GET 10 & 17 0% TgRIAS 597 & fod &
&% J97 4 @t T 81 8% & IO AHT: 60
IG1 G SIfa® 7E & afeyl

(vi) T9T TET 18 & 20 T% 31H FHIAS 797 &, a7
% F97 7 S T &l J&% HT IR G 130
=1 & SIf% T&T &I aifey

(vii) TH S FTIAE FoAl # ATARE GT I &l T
g9l & & STYP 9T T & 997 T &1

(viii) IZ-FHIHT G, GqTcHE TIT G Tt F97T T A
78 &l
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General Instructions :
(i) All questions are compulsory.

(ii) Marks for questions are indicated against

each.

(iii) Question No. 1 is divided into eleven (i-xi)
objective type questions. Each question
carries 1 mark. From questions (i) to (vi) are
multiple choice type questions. One correct
option has to be chosen out of four options in
each question. While question (vii) to (xi) are

of True and False type questions.

(iv) Question Nos. 2 to 9 are very short answer
type questions carrying 2 marks each.
Answer to these should normally not exceed

30 words each.

(v) Question Nos. 10 to 17 are short answer
type questions carrying 4 marks each.
Answer to these should normally not exceed

60 words each.
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(vi)) Question Nos. 18 to 20 are long answer
type questions carrying 7 marks each.
Answer to these should normally not exceed

130 words each.

(vii) Internal choice is available in all long
answer type questions. You have to attempt

only one of the given choice.

(viii) Word limit is not applicable to formulae,

numericals and diagrammatical questions.

[ TGS 09 |

[ Objective Type Questions ]
et Taeedl &1 g ST :

Choose the correct alternatives :

1. () = % Q P9-ur gufte onfde oremmw 7&f 82 o
(A) T e
(B) Hdl & &R AFT
(C) 98T AN
(D) THR I
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Which of the following is not a macro

Economic study ?
(A) Supply of money
(B) Market demand of apples

(C) Aggregate demand

(D) Government budget

(i) o IJU ST AG SATEGHAAT B TIH &Y T T

FAT &, FEATT & ¢ 1
(A) FeEd Ty
(B) Susi Fegy
(C) Yot gy
(D) 3H & &% I

Those goods which satisfy the human

wants directly are called.

(A) Intermediate goods
(B) Consumer goods

(C) Capital goods
(D) None of these
3011/ (Set : A)
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(i) AR F TEF AT GHATT BT T B gAT 2 1
(A) 1949 ¥
(B) 1950 H
(C) 1948 H
(D) 1951 &

When was National income committee

constituted in India ?

(A) 1949
(B) 1950
(C) 1948
(D) 1951

(iv) Fr=fafag & @ feger siftm SuanT = § e
721 fasar a7 1

A) fosit sifam Sustir g
(B) WHRI i ITHART &g

() Fwin )y
(D) & ¥ &5 &
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Which of the following is not included in

final consumption expenditure ?

(A) Private Final Consumption
Expenditure

(B) Government Final Consumption
Expenditure

(C) Expenditure on Construction

(D) None of these
(v) femfafed & & o9- fee gar 8 2 1

(A) T ST
(B) RfwT o=
(©) ot for
(D) ¥ @t

Which one is the near money out of the
following ?

(A) Time deposit
(B) Bill of Exchange

(C) Treasury bill

(D) All of these
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(vi) SR Rerd de @t wmoe fover af i &% 2 1
(A) 1905 H
(B) 1925F
(C) 1935%
(D) 1949 ¥

In which year was the Reserve Bank of
India established ?

(A) 1905
(B) 1925
(C) 1935
(D) 1949

[ %9 @&t & a1 T A3y

State whether the following statements are true

or false :
(vii) THT AN = ITHRT &7 + a9 7| 1
Aggregate demand = Consumption

expenditure + Investment expenditure.
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(viii) ToT @ STfaemred 91 § A 8 8| 1

Multiplier operates in all underdeveloped
countries.

(ix) dES® RO § R & A B HAdda U®
| 1

Fall in public debt leads to more
purchasing power in the hands of people.

(x) SITIH UH ToIe X & 1

Income tax is a direct tax.

(xi) YA 9 & @I § GATESID q&T S @1 H | &
EEMCTIIS ] 1

Accommodating items in balance of
payments accounts are called items below
line.

[ Srferery ST 0 |

[ Very Short Answer Type Questions ]

2. T B AR B [ Hac & ? 2

What is depreciation reserve fund ?
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3. AT M YT M | 47 =X & ? 2

What is the difference between personal income

and disposable income ?
4, FT AW &[S0 § A1 AT &7 TS 1T F et fosam

ST & P 2

Is the Income received from the sale of shares

included in National Income ?

5. T SHT @Il %l Agwd I | 2

State the significance of current deposit account.

6. URBEH SR & AT B 2

Define voluntary unemployment.

7. STRMTT &7 ST IR 4T T979 & ? G899 § G980 2

State briefly the effect of excess demand on
prices.

8. TSI T H e T 471 & 2 2

What is the safe limit of fiscal deficit ?
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9. Wit YA AY &I &Y | 2

10.

11.

12,

13.

Give the meaning of unfavourable balance of
payments.

[ g ST 09T |
[ Short Answer Type Questions ]

gelaTeT Sreferaed & a7 e faQreerd Sy 4

Give four features of Capitalistic Economy.

fo<ii yumelt & 991 @ &g Ihig vaTe Ared Ul 4

Draw a two sector circular flow model without a
financial system.

RS B T T T A § IR T &l | 4

Distinguish between domestic factor income and

National income.

g (Y STUTT (CRR) T 4471+ TRAT SII (SLR)
¥ T S B P 4

What is the difference between Cash Reserve

Ratio and Statutory Liquidity Ratio ?
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14.

15.

16.

17.

18.

(13) 3011/ (Set : A)
‘o aer T ARG fFEr § of) T | 4

Explain the difference between 'Autonomous

investment' and 'Induced investment'.

SAYUT TSR & &R HT EROM S AT B 4

Explain the concept of overfull employment

equilibrium.

I T T G TR B AFHAT T FAT ABWE § 2 4

What is meant by Bank Rate and Open Market
Operation ?

fafvmer <X @ woiuT JoTTelt &t et #R]| 4

Explain the gold standard system of exchange

rate.
[ e SRR U9 |

[ Long Answer Type Questions ]

o fatyr & T o &l AT § AT S ATt aaenEr
SRR 7

What precautions are necessary to measure

national income by income method ?
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SEEI

OR

= SiTwgl & SMaR W &y fIfY gRT IR SHdl W 9

BR], ICUTE S BT - 7

ud 594 (#11E §)
(i) Tl sifm Sgsi e 2400
(i) BRI SifH ST F 1200
(iii) &b F TR 200
(iv) T B ¥ it fermfor 800
(v) fadert &y o &R o 1000
(vi) TEIST T QTS HT AT 700
(vii) ST T [T I AT 800
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Calculate Gross Domestic Product at market

price from the following data :
Items Rs.

(in Crore)

() Private final consumption expenditure 2400
(i) Government final consumption expenditure 1200
(iii) Change in stock 200
(iv) Gross domestic fixed capital formation 800
(v) Net factor income from abroad 1000
(vi) Import of goods and services 700
(vii) Export of goods and services 800
19. 5T & T $E -9 & ? 7
What are the main functions of money ?
AT
OR
Traer o’ & FAT AT & 2 3HEH st & e
ol 2,5

What is 'Investment Multiplier' ? Explain its

working.
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20. F=fRad & ok @ &Y :

(i)  FICIeT & qAT ST I

w
n =

(i) SIS ©TET qT ATHE =TeT

w
n =

Distinguish between :
(i) Direct tax and Indirect tax

(ii) Fiscal deficit and Primary deficit

3rEn

OR

AT A T Hl S & & 41 39T & ? 7

What are the measures to correct the

disequilibrium in the balance of payments ?
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